vee T .
ré) 2 A‘(r.i' I‘ R Wt S i‘ﬂd‘.‘--} L\'fg

F-DTN-M-HHQA

GEOGRAPHY
Paper 1

Time Allowed : Three Hours| | Maximum Marks : 300

INSTRUCTIONS

Each question is printed both in Hindi and in English.
Answers must be written in the medium specified in
the Admission Certificate issued to you. which must
be stated clearly on the cover of the answer-book in
the space provided for the purpose. No marks will be
given for the answers written in a4 medium other than
that specified in the Admission Certificate.
Candidates should attempt Question Nos. 1 and 5
which are compulsory, and any three of the remain-
ing questions selecting at least one question from
each Section.

The number of marks carried by each question is
indicated at the end of the question.

Hlustrate your answers with suitable sketches, maps
and diagrams, where appropriate.

Important : Whenever a Question is being
attempted, all its parts/sub-parts must be attempted
contiguously. This means that before moving on to
the next Question to be attempted, candidates must
finish attempting all parts/sub-parts of the previous
Question attempted. This is to be strictly followed.
Pages left blank in the answer-book are to be clearly
struck out in ink. Any answers that follow pages left
blank may not be given credit.
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Section ‘A’
1. Write short notes on the following in about 150

words each : 12x%5=60

(a) Palaeozoic glacial evidence for Continental
Drift.

(b) Systems approach to landform analysis.

(¢) Compare and contrast tropical cyclone and
temperate cyclone.

(d) Major components of IGBP.
(e) Different layers of ocean water above abyssal
plain.
2. Answer the following in about 400 words each :

(a) Explain how Bosche and Haldenhang lead to
the Theory of Slope Replacement. 30

(b) Classify airmasses and explain how ‘cP’
airmass affects global climate. 30

3. Answer the following in about 250 words each :

(a) Discuss how different types of mining lead
to different types of environmental problems.
20

(b) Adaptation and distribution of animals in the
Ethiopian realm. 20

(c) Impact of Cryosphere on global climate. 20
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1. Frafafaa w gfaw fwfigt fafae, s gds
150 w=al ® gt =Ry 12x5=60
(%) weEEg e &1 g AT 9w |
(@) -avafer fancwor & % IO |
() 3907 Fidaiy whara T AT FTHATd A

gort g g e gtz |
(%) HAUER T[HSw SaRSe HUFH HT T 79 |
(¥) fageim #am & R e od & i =’ |

2. Ffafaa TR0 &7 ST SISFT 400 W= g

=eq
(=) g gfoeame fagrg & =9 oK geeaeT &
anTer $Y agrean Hifs | 30

(@) argafyr F faws fifey ok J-vweds Jaay

T ‘oP’ amRifer & g &Y e i | 30

3, fafafas ude &1 ook s 250 sl A g
=Ry :

() fafim gox & @7 3 s gataoig

TR & ey wa €, &3 A 20

(@) gifies afefes & ofoml &7 e O

fererer | 20
(TT) -ASeT FEEY W IR 439 (FEEHRIR) &

PRIER 20
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4. Answer the following in about 250 words each :

(a) Characteristics of the standard epigene cycle
of erosion. 20

(b) Programmes initiated by the International
Council of Science on Earth System studies.
20

(c) “Atolls present the most challenging explana-
tion in the evolution of coral reefs”, Discuss.
20

Section ‘B’

5. Write short notes on the following in about 150
words each : 12x5=60

(a) Relevance of distance decay fﬁrinciple in
Indian cities.

(b) Impact of migration on urban demography.

{c) Similarities in the population distribution of
southern continents and reasons for the same.

(d) Status of infant mortality rate in the world.

(e) Problems faced by industries which developed
due to inertia.

6. Answer the following in about 400 words each :

(a) Evaluate the various models on population
density distribution in urban centres. 30

(b) “Though 70% of Indian population is rural,
urban planning is crucial to the development
of India.” Discuss. 30
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4. Fafafed T@ &7 IO R 250 W& A g
e -

(%) T ATEIYBSN AT -9% T favmar| 20
(@) -39 qemma | adg famme aiog gra
T T | 20
(m) “varer e & fae § gae g9 A @&
FAteTqul svear wege aar &, o fifor )
20

T ‘@’

5. ffafe ot gftg it fofaw, s g @
150 w1 & i =few 12x5=60
(%) seda Al & g e Rrgre iy g |
(@) T SEierdl 9K T & T |
() =féror werEidl ¥ swer frawor i wwEer @&
- 3UF FR |
(=) foma & fimy gq =< &) f&afa o
(%) sreer s sitenfies faermr &t s |

6. Freafafag 9% &1 IO ATV 400 S=&1 A AT
=113

(%) T F A S are & e gefa

fafirr sfqurt &1 qere fifg | 30

(&) “quft ara € 70 g swEET T R,

T faem Wi ¥ faem § fFofas g1

faa=aT i | 30
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7. Answer the following in about 250 words each :

(a) Salient features of watershed planning and its
advantages and disadvantages. 20

(b) Impact of changing fertility ratio on world
population distribution. 20

(¢) “Colonial forces resulted in the primate pattern
of urban process in most Southeast Asian
countries.” Discuss. 20

8. Answer the following in about 250 words each :

(a) Regional shifts in the world urbanization after
1950 and the varied characteristics of urban
process. 20

(b) Impact of failure of Monsoon on Gujarat
Agro-climatic zone. 20

(¢) Locational significance of Rotterdam in
European economy. 20

F-DTN-M-HHQA 6



7. frafafas ode &1 IO raT 250 weEl § BT

T1fen

(F) w-forver oM & wie oepor 9 36 @y
R gt | 20

(%) fova & ufkatla sdwar sy o1 smaer faaor
TR T | 20

() “aferon-gd ofser & sfteer et § IulEEsdt
yfthal & TR 9iHaT & 9T § 9@
(arzAe) =T e | fae=s ife 20

8. frfofaa gdis &1 SO @ 250 v=af § 8T

Tifz .
(F) & 1950 & IR fang & TRaor § &=
TR UF WG gfear Y ffaer fadmamd |
20
(&) Td Fiv-searfs gew ¥ fawe amga @
ECICH 20
(1) g9 spf=EEn § A # e Aed |
20
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& ;i ave qurfer : 300
R

geder 99T fe=at ol st @ H 39T &

g3t & FO< Fat aneaE # for@ s Fifgy, foae Jeo|
9 gav-uF # fEar @ g, ¥} 59 AreAw #1 WY
Tl JOR-JEIH & JG-98 R dlFq ARy & |
faar ST WY FAY-97 W SfeeifEd AveAwm &
TR o farelt ATeae 7 ford 77 IO) WX FIE ofF gl
Ceud

o7 geqT 1 3R 5 sfAard § 1 Ak gvA § & g v
g FH-T-F7 TF Y97 AT [ T g9 & IR
T { ‘
gE I & AT Faa dE T & da F Ry mo
Fet I &, 9T Iok & agfaa Jar-amfaEar di]
YRG! & gErFar & @y F1g |

qE HTIvaw § o wer it frdt gyA FT R A @ T, aF
I T9T F Gt W/ IT- 9 & FaT a-arr & |
gwaT orf a7 § o srret 7o %7 IO fora & foag sy
g7 & g Frod goT & @t Wt /39- T & IOT
THTE g T | S AT T FEVE & Aqe<or iforg |
Fa< gferr & aret 12 §U g8t 1 @t § wE &9 &
F1E 7 | @relt g2 gy TN F 717 ford g FERI F w7
fg arq, dar gt awar €

Note : English version of the Instructions is printed on
the front cover of this question paper.




